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NOTES: Section 9.4 — Graphing Quadratic Functions

2N N / f; .:(
Goals: #1 - | can graph a quadratic function. {‘1'.2 C°:5 4 ¥ g
Homework: Section 9.4 Worksheet
Exploration #1: Graph the following function using a table of values.
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1. y=x . [
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a. Make some observations about your graph:

O shoped, G\l gosinvt OUTYUTS,
NorPY Fal, sympetviid

b. Do you know what this shape is called?

V&VWU\O\

(o Do'you know what type of function this is?

VO LYLETC
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Notes:

A ﬂ\\ )&dY(kﬂ& { \m(j’\ 0 n is a function that can be written in the
stundovd foym cy=ax? +bx+c

The graph of a q S)“(X! (Lt k function lsaMﬁm___

7\ Characteristics of Quadratic Functions:

4
jf ¢ Parabolas can open _U_v_ or mn
\ / e The lowest or highest pointon a
\ \ / parabola is called the

< .
N | NRYRX (A0S)

v 7 + me XIS _0€ symMmitt 4
\\ / divides the parabola into mirror
< \7/'.\ \\KF‘ K > % images and passes through the

Y NV KX
A0S ‘P

The formula we use to find our vertex AND axis of symmetry is: X

Example #1: Identify the values of @, b, and c in the functions.
1. y=x%+2x—3 2.y==5x*+

0=\ G
C:"’_} (,;5

You practice: [dentify the values of g, b, and ¢ in the functions.

1.y=:_3x2;9x—_1_2 2-y=_‘§x2+_x

q 6=
g b= |
C

=0
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Example #2: Identify the graph’s axis of symmetry (AOS), vertex, and tell whether the
graph opens up or down.

o v ¢ o v C
1y = 5 +10x+7 " 2.y=-2x;)+4x-1 "
_=\0 _ -\ . BN . e
K= 2(1 2(5) © V0 " \ X = 7w %t-_l\ =0y ‘
Y =5l D"uu(nﬂ SR AUEET O
2-10+] =2 AR R
nos: h="1 mass A=\

vertex: k'\, 2_\ vertex: & L | ’
opens: U (L 1S +) opens: 40N L 00 AS -)

6 C « v C
3.y=5x*-1 4.y=—x2+6x—1(t)o i
::ﬁ-—'—_-_p_-_ =-b-—‘. s
LR TR TO R S T T
\ = 500"+ \j—.-m nm)«\()

D=l == URAY ST IR
aos: X =0 a0s: K=

vertex( | D vertex: & ) )
opens: Mi) [(l \S '\- opens: ELEI n &(L \S _)

You practice: Identify the graph’s axis of symmetry (AOS), vertex, and tell whether the
graph opens up or down.

R LT
1.y=x2— xX= y-——x
. :_b_.::_ﬁ__'?«\___?:_, X' "'b_ ‘EL\ -0
[T - | -
Y= (8 -20)-3 | = SO
Y -2-3 = =4 =0¥| =)
AOS: "’| nos: X =0

vertex ) vertex: &D‘ \)
s -U(L S +) opens: AW (0 1S =)
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Example #3: Graph the function by completing the table. Identify the graph’s axis of
symmetry (AOS), vertex, and tell whether the graph opens up or down

& v e 7]
1.y=x2—-2x—(’3 BRRE iREN 2y-—2x +4x+1‘

T
e sl \- .! | ] i _ o, S =
A0S: A = ' 1+ Aos: =\ | u/‘\ -

vertex: L_L__ﬂ) ¥ | vertex: k ! 3) !
opens: &)Q [0&\5 ") a opens: (!()\U[] _, if

‘ 0 \S —) ‘
VU | [ e |
x[\0]1[2]3 x| |0[V][E]3
y101-31-91-3]0 y-5bl?%\-5
e\ =1 = ~ &
A= 7Za - 1&?‘%3\ A= 2w~ 20" ]
\5-_ U\‘_Z(D,g \ﬂ: —ZU\ *Li(n“l
| =Z=33 -4 -7\ =3

You practice: Graph the function by completing the table. ldentify the graph’s axis of

symmetry (AOS), vertex, and tell whether the graph opens up or down.
o \ _ o o y C

1.y=03c2+>fx—1 AWARIN r | 2y=-ax?+4x+7 z ™ ]
AOQS: X I ! | : AOS: Z" T 7Y
vertex: K_Z-| 5) - 1 !‘! vertex: LLI%) .' 1 . I‘\ l
opens: g!i M\Sf) | f . T? opens:i&)\“n M A N
| (0 \S =)

X'l‘t'?)'l"}o r -1 07;_' ik

y |~V =M -9] Y] y =V 3T 0
_,__l'i-—-:'.ﬂ—..ﬁ-_ —..:T_\Z..-:.i-'.:i:)“'
L= 20 w2 - AN T T R S
y s (D) RIS IREICIAY

4-¢-1=-9 = <71

=9
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